


When equity markets are bullish we say “ the Sensex has “gone

up” or “Equity prices have “gone up”

BUT

When bond markets are bullish we say “yields” have “gone down”

Why??




When bond markets move up,

we say that “yields” have gone
down whereas when bond
markets fall we say the “yields”

have gone up

Thus there seems to be an
inverse relationship between

the markets and the “yields”




HOWEVER
It is quite the opposite with Equity Markets where the “SENSEX” is

said to go up with rising markets and go down with falling markets

THUS

There seems to be a direct relationship between the equity markets

and the SENSEX




In equity markets a business offers

its shares to investors who are willing
to take a risk on the business
succeeding and thereby making big

gains.




In a bond market the business raises
debt capital where the investors

invest money for a fixed period

at a particular rate of interest.




When the bond markets are bullish (positive) it means there are

many investors who are willing to lend money.

In such a situation the business can expect to raise capital

at a lower interest rate or “lower yield”

Hence we say that “when bond markets are bullish the yields fall”.




Let me explain with an example.
Let’s say | issue a debt paper of
Rs. 100 each at 10% interest

p.a.

This means that an investor

who lends me Rs 100 for one

year will earn Rs 10 at the end

of the year. Thus at the end of
the year | will return
Rs. 110 (Rs 100 + Rs 10)




In a bullish market there are several investors who want to

Invest and papers are in short supply.

In such a situation, perhaps | would find an investor who is

willing to pay Rs105 for my debt instrument for which | had paid

Rs 100 to the original issuer for earning a 10% interest.




In this situation | become the issuer

to the new investor who purchased /
the debt paper from me for Rs 105.

Simply",
Simple./ih




The earning of the new investor works out to be

Rs 110-Rs 105=Rs 5

And the amount of interest he earns works out to
(Profit/Invested amount) x 100 = {5/ 105}% = 4.7%




Thus we see that when the

market is bullish the yields

come down and one is able to
raise capital at lower interest

rate.




| hope this lesson has succeeded

In clarifying this concept.




| will be glad to receive your feedback on this lesson to

understand if there any gaps.

Your feedback will help me improve my lessons going forward.

Also If you wish to demystify any other concepts, please write

to me about them.




Thinking of Investment

Contact

simply . |
Simple./in/




The views expressed in this lesson are for information purposes only and do not construe
to be any investment, legal or taxation advice. The lesson is a conceptual representation
and may not include several nuances that are associated and vital. The purpose of this
lesson is to clarify the basics of the concept so that readers at large can relate and
thereby take more interest in the product / concept. In a nutshell, Professor Simply Simple
lessons should be seen from the perspective of it being a primer on financial concepts.
The contents are topical in nature and held true at the time of creation of the lesson. This
Is not indicative of future market trends, nor is VEcoSys IMF Pvt. Ltd. attempting to predict
the same. Reprinting any part of this material will be at your own risk. vEcoSys IMF Pvt.

Ltd. will not be liable for the consequences of such action.

Mutual Fund investments are subject to market risks,

read all scheme related documents carefully.




